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	1
	If x + y = k is normal to the curve y2 = 12x, then k is equal to

(a) 3
(b) 9
(c) –9
(d) –3
	

	2
	Maximum value of f(x) = sin x cos x is

(a) [image: image6.png]



(b) 0
(c) [image: image7.png]



(d) 1
	

	3
	Let f (x) = [image: image8.png]


and  f is continuous at x = 0 ,then the value of k is
(a) k = 1
(b) k = 0
(c) k = 2
(d) k = 3 
	

	4
	 
If A is a square matrix of order n, then adj (adj A) is equal to

(a) [image: image9.png]APt a




(b) [image: image10.png][A° &




(c) [image: image11.png]|af2a




	

	5
	If [image: image12.png]tan}(a/x) +tan (b /x) = 542,



then find x

	

	6
	The image of the interval [–1,3] under the mapping [image: image13.png]JiR—=R



given by [image: image14.png]F{x)=4x-12x



is

[8,72]
(b) [-8,72]
(c) [0,8]
(d) [8,-72]


	

	7
	If [image: image15.png]& _
)2
Y+ (1-+
e
=(1++
y




(a) 1
(b) –1
(c) [image: image16.png]



(d) [image: image17.png]



	

	8
	 
 Determine order and degree of differential equations:[image: image18.png]



	

	9
	  Find the point of intersection of the line 
[image: image19.wmf]x4y61z

352

++-

==

 and the plane   3x-2y+z+5 = 0


	

	10
	The mean and variance of a binomial distribution are 4 and 3 respectively, Find n? 
	

	
	SECTION-B
	

	11
	Integrate [image: image20.png]Jin® xsin(x+2)




	

	12
	If [image: image21.png](x=a)' +(y-b) =c?



, for some [image: image22.png]


prove that [image: image23.png]


is a constant, independent of [image: image24.png]


and [image: image25.png]


.

OR

If [image: image26.png]xflty +yfl¥z=0
i
14y +y-



for [image: image27.png]-1<x <l



, prove that [image: image28.png]



	

	13
	If [image: image29.png]


and I is the identity matrix of order 2, 

show that [image: image30.png]1+A:(17A)[

coser —sin zz:|

sing  cose




	

	14
	Using properties of determinants, prove the following: 
[image: image31.png]fl4a 1 1

o1+s 1 :abc[l+l+l+1]
a b e

1 14




OR

Using properties of determinants, solve for x: 
[image: image32.png]le+x a-x a-x|
la-x a+x a-z|=0

i-x a-x a+x





	

	15
	Show that the Relation R in the set [image: image33.png]xez: 0=x=12}



is an equivalence relation. where

[image: image34.png]R={(a.b):|s~2| is amultiple of 4 }





	

	16
	Prove that: [image: image35.png]JTFsinx ++fT-sin

Aisinx

cot”






 INCLUDEPICTURE "http://www.extramarks.com/stryde/uploadfiles/Image/20070710310001001184042348%20%20_image123.gif" \* MERGEFORMATINET [image: image36.png]




	

	17
	If [image: image37.png]kcosx

T-2x



find the value of [image: image38.png]


if [image: image39.png]


is continuous at [image: image40.png]ol ®



.
	

	18
	Solve the differential equation  
[image: image41.wmf]21

23
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dxxy
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	19
	Solve  [image: image42.png]D sty
ax




OR

[image: image43.png]



	

	20
	. Find a unit vector perpendicular to each of the vectors 
[image: image44.wmf]a

 + 
[image: image45.wmf]b

 and 
[image: image46.wmf]a

 - 
[image: image47.wmf]b

 where 

       
[image: image48.wmf]a

 = i + j + k  ,    
[image: image49.wmf]b

 =  i + 2 j + 3 k  

   






  OR

 Show that the vectors 2 i – j + k , i– 3 j – 5 k and  3 i – 4 j – 4 k  form the vertices of a right angled triangle.       

	

	21
	Find the image of the point P(1,2,3) in the plane [image: image50.png]x+2y+4z




	

	22
	A and B throw a dice alternatively till one of them gets a ‘6’ and wins the game. Find their respective probabilities of winning, if A starts first.
SECTION-C
	

	23
	Using elementary transformations, find the inverse of the matrix 
[image: image51.wmf]ú
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OR

If A=
[image: image52.wmf]213
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Find A-1. Using A-1, solve the following system of linear equations 
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	24
	Bag I contains 3 red and 4 black balls while another Bag II contains 5 red and 6 black balls. One ball is drawn at random from one of the bags and it is found to be red. Find the probability that it was drawn from Bag II.


	

	25
	A manufacturing company makes two models A and B of a product. Each piece of Model A requires 9 labour hours for fabricating and 1 labour hour for finishing. Each piece of Model B requires 12 labour hours for fabricating and 3 labour hours for finishing. For fabricating and finishing, the maximum labour hours available are 180 and 30 respectively. The company makes a profit of Rs 8000 on each piece of model A and Rs 12000 on each piece of Model B. How many pieces of Model A and Model B should be manufactured per week to realise a maximum profit? What is the maximum profit per week
	

	26
	.  Find the area of the region bounded by the two parabolas y = x2 and y2 = x.:

            OR   

 Find the area of the region bounded by the parabola y = x2 and y = /x/ .


	

	27
	Show that the maximum Volume of a cylinder which can be inscribed in a cone of height 
[image: image54.wmf]h

and semi vertical angle 
[image: image55.wmf]a

 is 
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	28
	Evaluate as limit of a sum:    
[image: image57.wmf](
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	29
	Find the shortest distance between the lines 
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  and  
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